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1- Choose the correct answer. (12x1=12) _Jg,,,,,/g_,,,_,,, -
1. When a body attached with a spring has no [f»}szﬁ?n;MJﬁ;ﬁ;gd@;@(ﬁ;n&%;‘f; '1
displacement from its mean position, this position of ~u374/
the body is known as:
Equilibrium position ‘ﬂ/%/u’,{; (B) Extreme position ‘ﬂdéw (A)
initial position J%;,;&;,,; (D) Zero position u‘%j,;,{; ©
2. Troughs of water waves in a ripple tank behave like ,,winc)J/-gb,';ug;z,g&w,Lﬂ,%us@d/ 2

concave lens and.
Appear as coloured fringes ‘J;Lnﬁwu:u,ﬁfdf, (B) Appear as bright fringes _z2_ s /6 fus I Fss (A)

Diverge the light gz /7. di/5s, (D) Converge the light gz /7,545 (O
3. The distance between a node and the next antinode is _LL"MJ—"SU&"/J&})&’ﬁIuBJVQ 3
equal to. L
% of wavelength ,,;ﬁj‘:l,% (B) One wavelength ,,,:654,4 (A)
1 of wavelength ,,16;’,“1,% (D) of wavelength a,léj,"r,é ©
4. Speed of light in glass: _%Q:Jf;/uﬁ&f 4
3x 10 *ms! (D) 3 x 10°ms™* (C) 2 x 10 *ms™! (B) 2 x 108ms™t (A)
5. The capacitors which are generally used in radio sets for _+J@MI,LMJW’¢¢5¢%/4/)(& S
tuning are called.
Fixed capacitors ﬁ:(j,f (B) Variable capacitors ﬁ{tf“‘d/g (A)
Mica capacitors ;/"{g,. (D) Moveable capacitors /"/,{),’»1,1’,,2:3; (@)

6. If amaximum current of 12.5 A can pass through a wire,  _{uf e o §is9 0 125 At Son s stic tinllST -6
then what would be the best possible rating of the fuse.

30A (D) 13A (O 10 A (B) 5A (A

7. The presence of a magnetic field can be detected by a: ;Vg?ﬂ@&@%g&,zm&gv@? 7
Stationary positive charge L_@,?,}’,]{J/L, (B) Small mass o sl (A)
Magnetic compass LJ,;;,_,@? (D) Stationary negative charge L@,@}:@'JL ©

8. If a current is induced in a circuit due to a change of ;g_w,t/zm_g/u:J/L/,,L,?,UQ’_”JJ;_u)i;:;f/.,gfr 8
current in another circuit, this phenomenon is called: e
Electromagnetic induction _g£, 26 (B) Electrostatic _gx 2 (A)
Mutual induction ui@atﬁ,v; (D) Self induction wﬁ@gul, ©

9. InCRO, the potential of grid is: _‘gdﬁfbgl{;"fui CRO 9
Negative }:/Q (D) Neutral .y (C) Zero ,,; (B) Posi;cive =i (A)

10.  In computers, which is the input device? ?%%u’ujtgjgf.fuf/'/‘)g{ 10
All of them iy (D) CDs 35 (Q) Floppy discs deﬁ (B) Keyboard M.d/ (A)

1. The rays which are not affected by electric and magnetic _ty;ﬂ)’!é[{,ﬂjﬁ,,lj}gl{,u?‘{/&l 11

fields are.

None %34 (D) Gamma (-~ (C) Beta ¢ (B) Alpha 1 (A)

1. The half life of carbon in years is: eSS 12

3750 years J..3750 (D) 5370 years J.5370 (C) 5730years J..5730 (B) 7530years J.7530 (A)
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(Part-I- Jsl.2)
2- Answer the short questions. (5x2=10) ez B LSt 2
i Why two tin cans with a strig stretched between them ;,gLu,g,*gd",,éf&,cg/(‘;{46,,;;;/%9;/”3u:;,;f i
could be better way to communicate than merely ?9fﬁuzq'/%
shouting through the air?
ii.  What is te audible frequency range for human ear? Does ?LI!C}}?J:»FLWL/JW:WUJ&J/»MJMV&WJG,ALUK&U' i
this range vary with age of people?
iii.  Under water conditions will a converging lens form a ?{g;,@';d@.{uuLqu/JLgu}Jﬂ_ﬁjf iii
real image that is the same size as the object?
iv. " Mention the magnifying powers of the simple _u:"%,g.ﬁ’w?gf,,:ﬁu?buv v
microscope: o '
V. Explain why a glass rod can be charged by rubbing jg,@yJCL_,JJ,?cL_Cﬁ(?g@,kg/}{u:,;g[@u/Juq{vg,@”/yu, v
when held by hand but an iron rod cannot be charged ?u,"cgj%(wi@/%/}guf
by rubbing, if held by hand?
3- Answer the short questions. (5x2=10) ez LSt -3
i Why electrical potential energy decreases as the charges ?9J@n[u{§juJf‘fgﬂ/@u{ul?w";/y/iufJ/z,lg__ﬁ i
move around the circuit?
ii.  What is electron volt? Write its relation with joule. _QJLJ:,JXJ‘;{JWCL_LI_»,J,,};,;Q i
iii.  Write the names of two applications of electromagnets. _ﬂrugdm,mg,@w‘c’?,ﬂ, i
iv.  Len's law is mainfestation of the law of conservation of SUsd e e L6 Lo P LB 6~ Jdv
energy. Why? L
V. Define Thermionic Emission. v“é_,yf&ff:b(,:/? v
4- Answer the short questions. (5%x2=10) ez B LSt -4
i How many inputs and outputs of NOT gate? St AT AUE L L ANOT et .
ii. What is the relation between information technology ?ch‘}*;u"‘wﬁg,[&m&)ug‘fz‘m Jdi
and telecommunication?
iii.  Write a note on cell phone. _ﬂbh,j/i?/?u}ﬁ i
iv.  Isit possible for an element to have different types of _gwu,?wénﬁuﬁf’_ﬁiéaﬁl@b{!g iv
atoms? Explain.
V. Write the temperature at the centre of sun. _ufﬁfvn/;‘hg;-;g@, v
(Part-II- r»,ﬁ)
Attempt given long questions. (2x9=18) L& b.,;,;,‘}:.‘ﬁ Ly )5t

5(a)

(b)

6(a)

Nabeela uses a concave mirror when doing her makeup.
The mirror has a radius of curvature of 38cm. (i) What is
the focal length of the mirror. (ii) If Nabeela is located
50 cm from the mirror. Then where will her image
appear?

If at Anarkali Bazar Lahore, intensity level of sound is 80
dB, what will be the intensity of sound there?

Describe the structure and working principle of AC
generator.

2 Doce 238 20 S TR LKA e, P _ip b (@)5

S dUsgB 1T 12 550 M o6 ke S G LSS

el J,Ju”“”'f" -9 80dBULs x-St (b)

SIS =S a5 ) (a)6
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(b) Half life of radioacitve element is 10 minutes. If ,9_»,7&&,’(;3(38&/;;5(&!)21_%w]['JJUJQJ%%{I{&/UQ )

the initial count rate is 368 counts per minute, find time _z.unwd.:/’%z:}_w_u%uﬁgﬂufrﬁ”d;
for which count rate reaches 23 counts.
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